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(DDetermination of length with Trigonometric (20f the area of the right-angled triangle

ratio distribute.
If you divide short side by long side of right triangle, how There 1s a square made by squaring one side.
long 1s sun of short side per shaku of long side? When you want to trisect 1t,you divite 1t 1n three.
Also how long shaku of short side per sun of long side? Then you caliculate square root of one of them,you called 1t
However, when short side 1s three, long side 1s four and AD.
the slope is seven shaku five sun. Also,you find square root of two areas. It 1s AE
For example, 1t’s good to multiply 75 and one. You subtract the AD from AE.
You can know the length of AE. % BH WA
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Shoutoukoubaiki...1 answer vertical length of triangle =L EDANZERENNEZE I LFFRICE
within right triangle using trigonometric ratio. MLTULE=LVTT,

Doutoubunsetuki...l answer side of square which share

the base within another square using square root. : : : :
9 554 I think Wasan 1s the one used for construction 1n a

SHBDERE Future tasks building for a person using a close numerical formula.

We experienced Wasan 1nvestigation actually, too,

fpffle DI a=r—arz2Mb, BOPEALTITEIL, 5 keenly feel its difficulty, but it was possible to spend
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We want to communicate our friends and do voluntarily and messenger like an old person in the future, too. 5|
advance more smoothly than now. Byk)fEdk  Sanpou Fututan Kai
Also, we want to judge the nature early using diagrams and get EFE JuFE 1 6 7 34F
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